Representation of numbers in GCSE computer science

Handout 1 – Covering between number types
  
Task 1 – Binary Shifting (Left and Right)

Q1 i) Complete a 1 place left shift on the binary number 01001001.

ii) What is the effect of the binary shift:
	




[bookmark: _Int_xeckGot1]Q2 i) Complete a 3 place left shift on the binary number 11001011.

ii) What is the effect of the binary shift:
	




[bookmark: _Int_b8Cw1QHV]Q3 i) Complete a 2 place right shift on the binary number 11001000.

ii) What is the effect of the binary shift:
	




Q4, Divide the binary number 00010000 by 4 using a binary shift operation

	 




Q5 A binary shift can be performed on a binary integer. Identify which shift will multiply a number by 8 


Task 2 – Binary to Hexadecimal
Q1 Give two reasons why computer scientists use hexadecimal to represent numbers instead of binary.
	   
 






Q2 Convert the binary number 11101001 to Hexadecimal
	







Q3 Convert the binary number 11001010 to Hexadecimal
	







Q4 Convert the binary number 10110011 to Hexadecimal
	













Task 3 – Hexadecimal to Binary

Q1Convert the Hexadecimal number 0F to Binary
	





Q2 Convert the Hexadecimal number 3A to Binary
	





Q3 Convert the Hexadecimal number 96 to Binary
	






Task 4 – Denary to Hexadecimal
Q1 Convert the Denary number 62 to Hexadecimal
	





Q2 Convert the Denary number 250 to Hexadecimal
	





Q3 Convert the Denary number 128 to Hexadecimal
	






Task 5 – Hexadecimal to Denary
Q1 Convert the hexadecimal number 3E into Denary
	 





Q2 Convert the Hex number 62 to Denary
	 

 



Q3Convert the Hexadecimal number A3 to Denary
	  





Extension

Complete the table below

	Denary
	8-bit binary
	Hexadecimal

	15
	
	

	
	00110000
	

	
	
	66

	255
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